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Resistors Cé6 100pF Al L4 100 A2
MARCON I PH ONE R1 100kQ2 B2 Ci 330pF Al 15 50 Al
R2 27k Al C8 — B2 1.6 5-0 Al
R3 18k Al C9 —_ E3 L7 10-0 B2
6 0 R4 10MQ A2 C10 0-01uF Al 18 16-0 B2
BP R5 15k A2 Cl11 0-01uF A2 L9 30 —
R6 4.7TMQ B2 Ci12 100pEF B2
R7 100kQ) C2 Ci3 100pF B2 Miscellaneous*
Ro 10MO  B1 1s CooeF B2 T1 :ﬁ;’ggg'g} c2
: T R9 0 C15 100
Intermediate fl'equel'le 470 kC/S. R10 4700 A2 Cl6 loogp Cl c 5:000.0
RI1 270kS) B1 C17 0-01pF Bi a 40
N Ri2 150 Cr C18 0-01uF C1 T2 b 40 C1
R13 3.9Q0 Cl C19 0-03uF A2 c —_
C20 50u:F D3 S1-83 — Al
Capacltors C21 8uF E3 54, 85 — Cl1
Cl 120pF Al
C2 —_— g.% Ct;lls* . Az T T T e
C3 — 1 -0 A . —
R ~ pproximate D.C. resistance
8; llggp II:: AA% %:g 158 k% in ohms. Read “‘Warning”
P under “General Notes’’ before
- making measurements.,
Emitter Collector =HT+
2
e ‘
TR1
Base T2
internal
aerial eBI
oiume c LC) <]
C
7 l

CIRCUIT ALIGNMENT

Equipment Required.—An accurately cali-
brated signal generator; an audio output
meter; a non-metallic trimming tool,

L1 and L2 are ferrite rod tuned and should
be adjusted for maximum output by sliding
their formers along the ferrite rod and secur-
ing them to the rod with an adhesive.

1.—Switch the receiver to M.W. and turn the
tuning gang to minimum and the volume
control to maximum. Connect the audio
. output meter across T2 secondary wind-
ing. Connect signal generator between the
control grid (pin 6) of V1 and chassis.

2.—Feed in a_ 470 kc/s signal and adjust
the cores of L8 (B2), L7 (D3), L4 (A2) and
L3 (E3) in that order for maximum out-
put.

3.—Connect a few turns of wire to the signal
generator output and inductively couple
the turns to the ferrite rod aerial coils L1
and L2. Switch the receiver to M.W. and
turn the gang to maximum. Feed in a

522 ke/s signal and adjust the core of LS
(A1) for maximum output,

4.—Turn the gang to minimum. Feed in a
1,602 kc/s signal and adjust €9 (E3) for
maximum output. :

5.—Repeat operations 3 and 4.

6.—Feed in a 588 kc/s signal, tune it in on
the receiver and adjust L1 (A2) for maxi-
mum output.

7~Feed in a 1,427 kc/s signal, tune it in on
the receiver and adjust C2 (E3) for maxi-
mum output,

8.-—~Repeat operations 6 and 7.

9.—Switch the receiver to L.W, Feed in a

162 kc/s signal, tune it in on the ze-
ceiver and adjust L2 (C2) for maximum
output, .
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Valve ‘ Anode 1 Screen
* |
| mixer 67v 67.5V
| vt DK%{ osc. | oV
1 V2 DF9% l 67V ! 67.5V
V3 DAF96 J 65V J 50.0V
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. = —» LT

ol T RO 9 2l (_Bias l A T
I V2+ _ Vi + v3 + It RI2 v control . 55 o
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I're-set bias control R1Z.—1his control is
adjusted at the factory and should not nor-
mally require re-adjustment, unless the
transistors TR1 and TR2 are replaced. To
adjust R12, proceed as follows.

Unsolder one side of the *“test link”
(location reference D3) and insert a 0-10mA
meter. Switch the receiver on and tune it
for no signal, Turn .the volume control to
minimum. - Measure the ambient temperature
and adjust R12 (C1) for a current reading

mA -
277
ty P
25 -
H ) - /
e85
i3 ~
g3 4 P T
5.&
3 3
© H
10° 15° 20 25° 30° 35° °C
50°  59° g 77° 86"  95°°F
Ambient t¢emperature

corresponding 1o the ambient temperature as
shown -on the transistor bias chart below,
eg., if the ambient temperature is 20°
centigrade the corresponding current reading
for correct quiescent bias is 3.75mA.




